B T 3| =
JRRTIZDE K&t RESR R4.12.9
SM45E11 8 AOHMEEE.m) — gt AE AL BARARMTIEEDR
E =& A AN W B (mI-U- AP mmg)
S X E / * < v 45 =
(#FEEM) (g BH) (HFHLm) (fBH) (7 8) (g BH)
QHORF|I2EOIOBE|2E2FHFFE| 2% 2K E — —
16cm~20cm [ 22cm~28cm | 16cm~20cm [ 22cm~28cm | 18cm~28cm | 18cm~28cm | fffi | 5t | a7 " 7
X 3. 0m X 4. Om X 3. Om X 4. Om X 3. Om X4, 0m |48 17| E !
. 16,800 16,900 R%| =
?x -200 -670 HEIR
B 18,008 16,008 20,008 20,008 elelml=ss.
14,500 16,500 21,500 18,000 F|o o -
, : : : A EC MNP E-E N %,
I B 0 0 =500 ~5:000 55|55 B TR FEETE
17,000 15,000 23,000 22,000 E/EDITARB#MIEFTY 0T, BifidE<
T 40 7R B[H-oTa, M DIIEELMTEARA,
0 0 0 0 I DEREIFHLESTNS,
= = 13,000 13,000 21,000 20,000
— 0 0 0 -1,000
= B 12,500 14,000 23,500 26,000 & |m Z#‘liﬂ”ﬁ‘ﬁfaﬂ)ot/#liﬁ*@ﬂ:‘.?ﬁb“l‘i)
- -1,500 -500 1,500 4,000 Y. EEAY,
- 13,500 12,000 17,000 19,000 RIR|= R 1
J J J J Al |leE/FIEER i, XX B,
] 1,000 0 2.000 3000 % | g3 | P £/ FIE EREDHER . RFSMBIAR
- 13,000 13,000 18,000 19,000 = =
be 18,500 18,000 20,000 22,000 = - f{-E3 4
N 1,000 ~c00 0 5 = | | R (2B E s,
—_— 18,800 18,000 19,050 24,000 R =
= 300 0] 1450 2,410 DR
& = 15,560 15,240 20,339 21,111
= " -340 -167 172 712

GEN.EEBROEFIEIAR A ORKME, TERIERFIERHEMEEDE,
2B ET D& (X, Bt ME
SH17HE4B &Y. HH£D16cm~20cm. FHZE22cm~28cmICRHEZEH
44, £ITHIE. 55, R, &R, RR. BOSKHTEEE. B.BF. FRND3IXS




	原木

